

LYOPHILIZED INJECTIONS							
S. No.	Brand Name		Pack Style	Indications			
1	OnruBen-100	Bendamustine Hydrochloride 100 mg	20 ml vial	Chronic lymphocytic leukemia (CLL) and Indolent B-Cell Non-Hodgkin lymphoma (NHL)			
2	OnruBort	Bortezomib 2 mg / 2.5 mg / 3.5 mg	10 ml vial	Multiple Myeloma, Mantle Cell Lymphoma			
3	OnruCarf	Carfilzomib for Inj -30 / 60 mg	30 ml vial / 50 ml vial	Multiple Myeloma			
4	OnruCyphos	Cyclophosphamide 200 mg / 500 mg / 1000 mg	20 ml vial /30 ml vial /50 ml vial	Lymphoma, Myeloma, Leukemia, Breast Cancer, Ovarian Cancer, Retinoblastoma & Neuroblastoma			
5	OnruBazine	Dacarbazine 200 mg/500 mg	20 ml vial / 50 ml vial	Skin Cancer, Hodgkin's Disease			
6	OnruDaun-50	Daunorubicin 50 mg	50 ml vial	Leukemia			
7	OnruDoxine	Doxorubicine 10mg / 50 mg	10 ml vial /30 ml vial	Kaposi's Sarcoma, Bladder, Breast, Stomach, Lungs, Ovaries, Thyroid, Nerves, Kidneys & Soft Tissues			
8	OnruPicin	Epirubicin 10 mg / 50 mg	10 ml vial /30 ml vial	Breast Cancer			
9	Onrugan	Ganciclovir 250 mg / 500 mg	10 ml vial	Cytomegalovirus (CMV)			
10	OnruZar	Gemcitabine 200 mg /1000 mg / 1400 mg	10 ml vial /50 ml vial /50 ml vial	Breast Cancer, Lung Cancer, Pancreatic Cancer & Ovarian Cancer			
11	OnruFos	Ifosfamide 1 g / 2 g	50 ml vial	Lymphoma, Sarcoma & Lung Cancer			
12	OnruPem	Pemetrexed Disodium eq. to Pemetrexed 100 mg / 500 mg	10 ml vial /30 ml vial	Non-Small Cell Lung Cancer (NSCLC)			
13	OnruVel	Vinblastine Sulphate 5 mg/10 mg	5 ml vial /10 ml vial	Hodgkin's Disease, Non-Hodgkin's Lymphoma & Cancer of the Testicles			
14	OnruZole	Zoledronic Acid 4 mg	5 ml vial	Paget's Disease			

LIQUID INJECTIONS						
S. No.	Brand Name	Composition	Pack Style	Indications		
1	OnruCarb-150	Each 15 ml contains (10 mg / ml) Carboplatin 150 mg	20 ml vial	Ovarian Cancer		
2	OnruCarb-450	Each 45 ml contains (10 mg / ml) Carboplatin 450 mg	50 ml vial	Ovarian Cancer		
3	OnruCis-10	Each 10 ml contains (1 mg / ml) Cisplatin 10 mg	10 ml vial	Cancer of the Bladder, Ovaries & Testicles.		
4	OnruCis-50	Each 50 ml contains (1 mg / ml) Cisplatin 50 mg	50 ml vial	Cancer of the Bladder, Ovaries & Testicles.		
5	OnruTere -80	Each 2 ml contains Docetaxel 80 mg	10 ml vial	Metastatic Cancer		
6	OnruTere -120	Each 3 ml contains Docetaxel 120 mg	20 ml vial	Metastatic Cancer		
7	OnruOxal-100	Each 50 ml contains (2 mg / ml) Oxaliplatin 100 mg	50 ml vial	Colon or Rectal Cancer		
8	OnruTaxel -30	Each 5 ml contains (6 mg / ml) Paclitaxel 30 mg	5 ml vial	Cancer of the Ovaries, Breast, Non-Small Cell Lung Cancer & Kaposi Sarcoma		
9	OnruTaxel -100	Each 16.7 ml contains (6 mg / ml) Paclitaxel 100 mg	20 ml vial	Cancer of the Ovaries, Breast, Non-Small Cell Lung Cancer & Kaposi Sarcoma		
10	OnruTaxel -260	Each 43.40 ml contains (6 mg / ml) Paclitaxel 260 mg	50 ml vial	Cancer of the Ovaries, Breast, Non-Small Cell Lung Cancer & Kaposi Sarcoma		
11	OnruTaxel -300	Each 50 ml contains (6 mg / ml) Paclitaxel 300 mg	50 ml vial	Cancer of the Ovaries, Breast, Non-Small Cell Lung Cancer & Kaposi Sarcoma		



## The Company

Hiral Labs Limited is pharmaceutical and nutraceutical company engaged in manufacturing of finished dosages since year 2000. We are accredited with WHO: GMP, ISO 9001:2015 and ISO 22000:2018 certification. Hiral Labs Limited has two separate manufacturing sites near Roorkee, India. We manufacture Oncology Injections, Tablets, Capsules, General Injections, Eye, Ear & Nasal Drops, Oral Dry Powders, External Preparation (Ointments, Lotions & Creams), and Nutraceuticals.



Our strength is our comprehensive manufacturing facility and capability to manufacture more than 300 stable formulations in several packing styles. In domestic market other than 180 our own brands, we manufacture products for 350 India companies. Internationally, we are exporting our products to more than 35 countries across 5 continents. Our products are exported to countries like Azerbaijan, Canada, Cuba, Georgia, Jordan, Kenya, Kosovo, Morocco, Myanmar, Nicaragua, Philippines, Romania, Sri Lanka, Uzbekistan, UAE, Yemen etc.We have our overseas associated companies, RAALI HEALTH INC., Canada and MAPS PHARMA Pvt. Ltd. in Sri Lanka for global marketing & distribution.

## **Quality & Management**

Our success is strongly rooted in our belief of Quality Drugs at Affordable Price. Well qualified and experienced production staff is capable of delivering the most advanced formulations with highest standards of quality. Our QC & QA departments have qualified and experienced staff to take care of quality at every stage of manufacturing. We have well equipped separate labs for each manufacturing site. Chemico-physical and Microbiological labs with most sophisticated equipment are capable of in-house testing of environmental parameters, water, stability of product raw and finished products. Water & HVAC system is as per international standards.



## Seven Good Reasons to Choose Hiral Labs Ltd.

- 1. WHO GMP, ISO 9001:2015 & ISO 22000-2018 accreditation.
- 2. Quality Products, Affordable Price, On Time Supplies and Transparent Dealings.
- 3. Products exported to more than 35 countries across 5 continents.
- 4. 365 Ready Dossiers with strong in-house regulatory team.
- 5. Comprehensive formulation facility under one roof: Oncology & General Injections, Tablets, Capsules, Injections, Eye, Ear & Nasal Drops, Oral Liquids, Oral Dry Powders, External Preparation (Ointments, Lotions & Creams) and Nutraceuticals.
- 6. Inhouse regulatory, designing and logistic team to take care at every stage.
- 7. Expertise in developing tailor made and customer specific formulations with R & D facility.





## **Hiral Labs Limited**

Near Bhagwanpur, Roorkee-247661, Uttarakhand, INDIA Domestic: +91-8755301630, +91-9084724030, Email: oncomarketing@hirallabs.com Export: +91-7895040784, +91-9084655030, +1(647) 335-5030, +91-8191905030 Email: export@hirallabs.com, Website: www.hirallabs.com